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IMODEL ANSWERS
Sub: ENGLISH GRAMMAR Class: VII F.M. 90

Duration: 2 Hours and 30 Mins. Date: 13.11.2018

SECTION A

1. Choose the correct options:- [5 marks]

Conjunction that joins two statements of equal rank are- Coordinating Conjunction
Subordinating Conjunctions join a to main clause.-Subordinate clause

The subject is not the doer of the action in- Passive voice

Nouns that denote things that are neither male nor female areof the gender. -Common
Preposition shows- Relation of noun with other part of the sentence
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2. Underline the prepositions and identify their types:- [5%x2=10]
a. | have a meeting at 8 P.M today. TIME
b The helicopter hovered over the garden. PLACE/ MOVEMENT
c The bird flew towards its nest. MOVEMENT
d. Keep the books on the table. PLACE/ POSITION
e He went down the stairs. MOVEMENT

3. Change the voice of these sentences:- [5marks]

a. He has joined a swimming class recently.

A swimming class has been joined recently by him.

b. They have invited my mother to the party.

My mother has been invited to the party by them.

C. 1 will have packed the suitcase by tomorrow.

The suitcase will have been packed by me tomorrow.

d. Use the picture clues to complete the sentences.

The picture should /must be used to complete the sentences (by you).
e. My dad and mom have prepared this dish.

The dish has been prepared by my dad and mom.

4, Join the pairs of sentences using suitable coordinating conjunctions:- [5 marks]
a. Alvin is clever. Alvin is creative.

Alvin is clever and creative.

b. The seat was empty. | sat down.

The seat was empty so | sat down.

C. Rocky has found the map. He has failed to decipher its key so far.
Rocky has found the map but he has failed to decipher its key so far.

d. | read the poem twice. | did not understand its meaning.
I read the poem twice yet | did not understand its meaning.
e. Don't forget to take the umbrella. It might rain in the evening on your way back.

Don’t forget to take the umbrella for it might rain in the evening on your way back.



SECTION B

5, Read the following passage and answer the following gquestions:-

India celebrated the 500" Test with a 197 run win over New Zealand on Monday at Kanpur, with Ravi Ashwin claiming six second
innings wickets to hasten victory in the series opening match.Set an improbable victory target of 434, New Zealand were bowled out
for 236 in the middle session on the last day, Ashwin (6-132) completed his 19" five wicket haul in 37" Tests, and his fifth 10-wickets
haul in the format. And with the Second Test finishing in 178 run victory on its fourth day Indian returned to the top of global rankings
wresting the position from Pakistan. It turned out to be a cinch. Till date New Zealand haven’t won a Test series in India. Needing 376
to win the Eden Gardens Test to get even New Zealand were for no loss at lunch and 135 for 3 at tea. They simply collapsed
subsequently, failing even to get past 200 though their innings consumed over 81.1 over’s.

A) Write the correct alternative to complete the following sentences (1%6=6)

a) India won the 500" Test match against — New Zealand

b) Ashwin played up to this time- 37 tests

c) The series opening match was played at- Kanpur

d) Ravi Ashwin claimed in the 2™ innings — Six wickets

e) Having gone to chase 434 the New Zealanders were bowled out for —236

f) India grabbed the top position from — Pakistan

B) Write True and False for the statements below :- (4]
1) New Zealand needed 386 to win the Eden Gardens Match. False

2) Indian won the first Test Match of the series by 197 runs. True

3) Till date New Zealand have lost all the Test series in India. True

4) India celebrated the 5007 Test with a 197 run win over New Zealand on Tuesday at Kanpur. False
C) Answer the following questions:- [2x5=10]

1) Who collapsed subsequently in the Eden Gardens Test Match?

New Zealand collapsed subsequently in the Eden gardens test match, in fact they were unable to have a single
victory.

2) How many wickets did New Zealand loose at tea?

At tea New Zealand lost 3 wickets and scored just 135 runs.

3) Who bowled 81.1 over’s?

India bowled 81.1 over’s but the New Zealand team were unable to even get past 200.

4) What turned into a cinch (an easy task)?

With the Second Test finishing in 178 run victory on its fourth day Indian returned to the top of global rankings
wresting the position from Pakistan. It turned out to be a cinch.

5) Suggest a suitable title to the passage.

Any suitable title to the passage related to the sport.

d) Find out the word suitable in meaning from the passage given:- [5]

1) Triumph- Victory

2) To finish a task- Complete
3) To go back- Return

4) Fell down- collapsed

5) Resulted in- finish in



SECTION C
6. Define the following:- [5x2=10]
1) Active voice- When the subject is the doer of the action, the verb is said to be in the Active Voice.
2) Subordinating conjunction- Subordinating conjunctions join two statements or clauses of equal rank.
3) Modal verbs- Modal verbs are verbs with main verbs to express different moods, meanings and attitudes.
4) Preposition of movement- When a preposition indicates movement or direction of the noun/object.
5)  Preposition of place- Preposition that help to show the position of a person, an animal, or a thing are called
Preposition of place, such as under, inside, in at and on.

7. Complete the paragraph using suitable modal Verbs: [5 marks]

Water is the elixir of life. A person ___can__live for about a month without food, but only about a week without water.
Everyone _should__ drink at least eight glasses of water daily to stay hydrated. But all of it __should/ must__bein the
liquid form. Some of it __might___be in the solid form. Nearly every item consumed provides some amount of water to
the body. Yet, drinking too much water too quickly __can___lead to water intoxication.

8. Fill in the blanks with must not, might have, could have, could not have, should have, will have, or would have:-
[5 marks]

1) We _ _must not encourage corruption.

2) You__ could not have finished the work so quickly.

3) You should have visited a doctor this morning.

4) My friend ___might have/could have__ written to the class teacher about the incident.

5) If we had started early, we __would have reached the top by now.
9. Write a dialogue, between two friends, Suman and Amit regarding a market area that caught fire, and how
people were rescued in the area. [150 words] [10 marks]

[A dialogue/conversation between Suman and Amit regarding a market area that caught fire]
Suman: Hi Amit! How are you?

Amit: Hello Suman! | am fine, thank you.....cceeenines
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10. Write an essay on any one of the topics [250- 300 words] [10 marks]
I. 1am proud of being an Indian
Il. Books are friends for life. Write an essay about your favourite book, describing why you like it and stating why
you think everybody should read it.

Heading
Introduction
Body
Conclusion




